Precalculus
Q1 Cumulative Review — Chapter P, 1 and 2
**Denotes “No Calc” problems

CHAPTER P

Write the following in interval notation. **
1. X is a positive number 2. 0<x<3

(0,0 ) (0,3 )
Solve the following equations for x. **

4, x(3x+2)=20
3x2+2%x -20=0

6. 6Xx°+7x-3=0
(3x -1 X2x + 3) =0

Name: l_(%

3. X<-6o0or X>-5

(-00,-6J U (-5, 00)

x=-2* J4 -43x20)
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5. 4x“* =64 7. 2X
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Solve the inequality and sketch the graph on a number line. **
8. [|2x+1|>3 9. 9x* <81x 10. 5x° +14x* —3x >0
2% >2 2X <-4 Ix(x-9)20 %(5x - XX+3)20
(& X<-2 . o
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Solve theequa i ties using a graphing calculator.
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X%-1.56,2.50 % 1.06

14, X3 -2x*+x—4< -1 15. X+1>-4
(-9, 9.17) Cs.)

@o}u 'Is, @

13, 3_\—x +2x+5\

X% -2,-13, 2.73,4

16. X*+2x—-3>5
(- 00,4 )U(2,00)



State whether the equation is a function. ** \Ver t‘lb a.z u‘ne tew [

17. y=/x-4 / 19. y=[2x] /\/

Function Function
18. y=50x+413 / 20. X2 +y* =16 @
Function ReLatipn
CHAPTER 1

Use the equation f (x)=x" —3x° + x—1 tofind its properties listed below.

21. Absolute maximum: p /g
25. Increasing intervals: [::_;,, ) ,353\; [2.20,00)

22. Absolute minimum: y= -7.32E x= 2.20
26. Decreasing intervals: (-0, .31V [-3¢, 2.20]

23. Local maximum(s): y= - T6@ x=.306
27. Constant intervals: p, /4

24. Local minimum(s): y= -1.32.(2 x=2.20
28. Even/odd/neither? ngrtnev

Find the domain of the following functions. **

— 2_
29. f(X)=x+x—4 30. T(x)=x"-3x+4 31. f(x):%
X ~420 R \LX 4;x
XZ4 X#0 4-x%2>o0

(2+xX2-%)>0
[4—,90) -3 ool 1 3
O 20 o & 29

Use the equation f (x) =—3x* —2.** ﬂ (-2,0)V (0'2)!
32. Is the function bounded /fbounded above /Nountted below/neither? Circle one. L’

33. Is the function / odd/neither? Circle one. 34, Describe the transformations taking place (in
order). |4=x7- I
vert.

@® rettect over x-axis

@ stretch bafe 3 QR @é@%@
®L2



Use the functions to evaluate the following: f (X) =+/x* -9, g(x) = 2x+3 **

35. f+g = ’XZ_OI + 2x+3 36. f—g ,’Xz_a, — 2X"'3

o7 100D = Jzx+3)> - 38. g(f(x) = \2@7) “3}

= V4x? #2x +9-4
:f\/ 4x2+tlxj

39. Confirm the following two functions are inverses of one another: f(x)= % X +4, g(x) =3/2x—8 **

flgo)= 3 (Yax -8 )’ +H= 3(2x-8) vt =x -4rf =% ¥
G = I asxtew) -8 =3 [xPe8-8 =333 =x v

40. Find the inverse of f(x)=+/Xx—1+4and state the domain of f"(x) .**

range: [4,00) X=dy-1 +4 f7'(x)= xZ-8x+17
¥-H=Jy d: [4, »)

XZ-8x +1b ¢l =Y

Use the function h(x) = -3[x—2|+7

41. List the parent functions and the transformations (in order) taking place. **

Vertical Horizontal
O fup over X-axs O->2
® stretch bafo 3
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42. Graph h(x) . Plot at least 4 accurate points. ** 43. Graph the following piecewise function:
x> +1if x>0
F(x)= { 70w

—Zyny Xx<0
A \ A

il /
71\ X
% »
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< - \\ > < . >
VA J




** KNOW THE 11 BASIC FUNCTIONS! **

CHAPTER 2

44. Find the vertex and axis of symmetry:
y =3x* +12x —1**

x=-lZ =|X=-2
20) |vertex: (-2,"13)
3(-2)* +2(-2) -}
3(4)-24 -1

45. Convert #44 to vertex form by completing
the square.**

Yy=3(x* H4xX+ 4 ) - - 12

g= 3(%X+2) Z—@

46. Write an equation of the line passing through (-2, 7) and (2, -1).**

I
2+2

9+1:~2(X'2)

0R
p:'2X+3 .
47. Sketch a graph of the following polynd mial? f(x) =x(2x=D=(x+5)". Include zeros (with multiplicity),
. -. sksk . 6
end behavior and the y-intercept 0()12(2) -5(3) LT: 4x
0
- '/2 limf(x) =00
X>-00

|IM'F(X) =09

X -00

48. Factor completely. Then write a linear
g(x) =x>—3x* -5x* +5x* —6x+8 =>
Jevos from calc: -2,1,4

2|1 -3 -5 5 -¢|(8
Y2 1o 1o 10 |-8
t 6 5 -5 4 o

factorization of the function (factored form):

FJR)= (RE2XX =1 X x -4 Xx+LX X -0

Htr-55 -5 |4 ‘Ul-‘f[[t{—
Loro¢ -4 L4 0] 4
| -4 « -4 O V8 1 0

X2+ | =0
X%=-|

X=2



49. Write a polynomial of minimum degree in factored form, then in standard form, that has zeros of 4
and1+21. " Zopps: 4 1420, | =20

'(x~4)(x -2xt5)
sramdardforwm © {(X)= x—wx-be -20

50. Graph the function. Include any asymptotes (vertical, horizontal, slant), removable discontinuities, x-

and y-intercepts, and end behavior. g(x) —M = gx) = (3x -2 X/_'?%

(x-S X X+5)
N ]
\
\ 2 = \
N v.A .X -5 limg(x) = - 60
11 1] 11 i :§ HA ° 9’3 X,)E-
& 5~ || S.Awn/a limg(x) =
< > RD.: (=5,"/) X357
\\ X=int: (2/3 o) )
! g (x)=3
Yy-1b: (0,2/5) _
\\ x> -0
\A \‘mg(x)—fj’
v v X> 0
. X 1 2
51. Solve for x. Check for extraneous solutions. + =— **
X—2 X—-4 X —-6x+8
(x-4) ¥ -2)
X(X-4) + ((x-2)=2 (x-4Xx+[)=0
\<1~4x+x-2~2\=°j x=%|=-1
X2 -3x-Y4 =0 l—
52.S . . , (x=3)|x+4] .
. Solve the inequality. Create a sign chart! —1 >0
X+




53. Solve the inequality using your graphing calculator: —x* +3x* —2x* +x-1<0

\?—w, ) u(z.QIJoo)l

l 2.2|

54. Using a pair of scissors, you cut congruent squares off of the four corners of an 8.5” by 11” piece of card
stock. Once the squares are cut off, you fold up the sides to form an open box (a box without a top).

a. Ifyou want the box to have a volume of at least 16 cubic inches, what size squares could have been
cut from the cardstock?

162 X (8.5-2x )0 -2%)

\[‘. 19,3 .66

b. If you want the box to have a volume no more than 16 cubic inches, what size squares could have

been cut from the cardstock?
le 2 x (€.5-2xY10-2x)

l(o, 1q]v [3 -66)4,;257}




